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Usha Ltd. issued a prospectus inviting applications for 60,000 shares of Rs. 10 each

at a premium of ¥ 2 per share, payable as follows :

On application - T2
On allotment — ¥ 5 (including premium)
On first call — T3
On final call — T2

Applications were received for 90,000 shares and allotment was made pro-rata to the
applicants of 75,000 shares, the remaining applicants were refused allotment, money
overpaid on applications were applied towards sum due on allotment.

Mr. Deepak, to whom 1,000 shares were allotted, failed to pay the allotment money
and on his subsequent failure to pay the first call his shares were forfeited. Mr. Gopal
the holder of 2,000 shares failed to pay both the calls and his shares were forfeited

after the final call.

Of the shares forfeited 2,000 shares were reissued to Mr. Arun credited as fully paid

up for ¥ 8.50 per share, the whole of Mr. Deepak shares being included.

Pass journal entries and prepare Balance Sheet. 15
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Or
(3rgam)
Balance sheet of Bharat Ltd. as on 31st March, 2010 was as follows -
Liabilities Amt. Assets Amt.
®) ®)
Share Capital : Sundry Assets 5,60,000
40,000 Equity shares Investment 60,000
of T 10 each 4,00,000 | Cash at bank 1,40,000
20,000 12% Redeemable
Preference share of T 10
each, ¥ 8 paid 1,60,000
Sundry Creditors 84,000
Profits and Loss a/c 1,16,000
7,60,000 7,60,000

The company decided to redeem the preference shares at a premium of 5% after

complying with the provisions of Section 80 of Company’s Act. In order to provide

cash towards the redemption of preference shares all the investments were sold for

2 50,000 It was decided to issue minimum number of fresh equity shares at par.

Give journal entries and prepare Balance Sheet afier redemption.

15
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2qany ufyr | wfet T
® ®
g i fafqy wftgafaal 5,60,000
10 2 wfd ¥ & 40,000 IRELY 60,000
gfradt IR 400,000 |5% A %3 1,40,000
T 8 WEd, T 10 Wia IR
@ 20,000 12% HrEAE
arfemm IR 1,60.000
fafay o eR 84,000
qY-FH @ 1,16,000.
7,60,000 7,60,000

FT ¥ woh fufEm & oww 80 H IWH H TEH FA P AR 5% B
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wha shfed Sfm s B @ SR geE-T R wRm
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The following are the balances of Mohit Co. Ltd. as on 31st March 2010 -

Debit Amt. )| Credit Amt. (3)
Premises 34,72,000 | Share Capitals (T 10 each) 40,00,000
Plant 33,00,000 | 12% Debentures 60,00,000

" Stock 7,50,000 | Profits & Loss A/c 8.,00,000
Debtors 8,70,000 | Bills Payable 3,70,000
Goodwill 4,50,000 | Creditors 6,00,000
Preliminary Expenses 50,000 | Sales 41,50,000
Debentures interest paid 1,80,000 | General Reserve 2,50,000
Cash at Bank 5,44,000 | Bad Debts Provision (on 1-4-2009) 35,000
Calis in Arrears 75,000 _
Interim dividend paid 3,92,500
Purchases 18,50,000
Wages 9.79.800 .

General Expenses 68.350
Salaries 2,02,250
Bad Debts 21,100
1,32,05,000 1,32.05.000

Other Informations :

(H Stock on 3ist March, 2010 was T 9.50,000.

(i) Depreciate plant by 15%.

(i)
()

(v) Provide for Income tax @ 35%.

Create 5% provision on debtors for doubtful debts,

Interest on debentures for 6 months is due for payment.
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(vi) A claim of ¥ 30,000 for workmen compensation is being disputed by the
company.
(vii) The Board of Directors declared a dividend of 12% on paid up capital including
interim dividend.
(viii) The corporate dividend tax is 17%.

Prepare Profit & Loss Account, Profit & Loss Appropriation Account and Balance

Sheet as per Schedule VI 15
o Fe f& ® 31 9= 2010 B 9w frfafen ¥ o

L0 i 3y i @)
iR 34,72,000| =R (X 10 9 W) 40,00,000
TTA 33,00,000| 12% BUYS 60,00,000
wIF 7,50,000| wnu-TH FEn 8,00,000
R 8,70,000{ 27 fard | 3,70.000
g | 4,50,000{ TR 6,00,000
TRiVE =4 50,000| famt 41,50,000
OSSN WaN 1,80,000| ¥ sfafa 2,50,000
f&aﬁm 5,44,000| 3TeIE U WEHH (1-4-2009 ) 35,000
s ut 75,000 | |
Yeu 3fafy @ 3,92,500
aiig 18,50,000
Tl 9,79.800
TER = 68,350
A 2,02,250 |
atgie o 21,100

1,32.05,000 1,32,05,000

P.T.O.
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Or

(3tyam

(@) The following balances appeared in the book of ABC Ltd. on 1st Oct., 2009 :

4
12% Debentures 2.00,000
Sinking Fund 1,50,000
Sinking fund investment (face value ¥ 1.70,000) 1,50.000

Interest on investment is received on 30th Sept. and 31st March @ 8% pa.
Annual contribution to the sinking fund was ¥ 50,000 made on 3Ist March each

year.
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Debentures fell due for payment on 31st March, 2010. The company carried out
the redemption by the sale of sinking fund investments at 95% on that date
balance at bank stood at T 1,44,000 (before interest on investment has been

received)

Prepare 12% Debenture Account, Sinking Fund Account, Sinking Fund I[nvestment

Account and Bank Account. 10

Distinguish between Profits & Loss Account and Profit & Loss Appropriation

Account. 5

(F) ABC Ld. 9 Ted ¥ | smgeR 2009 ® Frfafed oW fam M@ 4 ¢

z
12% OIS 2.00,000
féw iy 1.50,000
frgg fafu fraw (sifwa o0 T 1,70,000) 1,50,000

AW W oW 8% afYE w o W 30 s R 31 WE W W@ a
31 fidw fify @ Rg s SfTRMA % 50,000 1 W ykE = 31 A
H fEm s ®

woE & 31 AE 2010 @ WA wCN oe4n s 3 fagm fafu frawd
aﬁos%mawﬂmﬁmnwmmémﬁmzlﬁ,ooo
ff (FRw @ =™ W B 9 W)

129, FHoE o, I8 ffu o, fdw fify fow S v &% o

Coirdic i g

(@)yaw-af d@ ok ow-m fafdem o A fave =it

P.T.O.
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Shashi Co. Ltd. agreed to acquire the business of Rohit Ltd. as on 31st March, 2009.

The Balance sheet of the Rohit Ltd. on that date was as follows :

Liabilities Amt. | Assets Amt.
§9; ®)
Share Capital : Fixed Assets :
Authorised 60,000 Goodwill 1,00,000
equity shares of ¥ 10 each 6,00.000 Land & Building 300,000
Issued, subscribed & paid up : Plant & Machinery 3,40,000
50,000 equity shares of Current Assets, Loan & Advances
T 10 each 5,00.000 yCurrent Assets :
1.000 10% Preference Sundry debtors 36,000
shares of ¥ 100 each 1.00,000 Stock 1,68.,000
Reserve & Surplus : Cash in hand 36,000
General reserve 1,70,000 Cash at bank 50,000
Profit & Loss A/c 1,10,000
Secured Loan :
10% Debentures 1,600,000
Current Liabilities & Provision|:
Current liabilities :
Sundry Creditors 50,000
10.30.000 10,30,000
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The consideration payable by the Shashi Ltd. was arrived as follows :
() A cash payment Qf T 2.50 per share in the Rohit Ltd.
(i) Tﬁe issue of 90,000 ¥ 10 equity shares in the Shashi Ltd. having an agreed
value of ¥ 15 per share.
(if) The preference shareholders of Rohit Ltd. were issued 12% preference shares of
T 1,20,000.
(iv) The Shashi Ltd. issued 12% debentures of ¥ 1,25,000 at discount of 4% to
the debentureholders of Rohit Litd.
While computing the agreed consideration, the directors of the Shashi Ltd. valued land
& building at % 6.00,000, plant and machinery at T 6,00,000. stock in trade at
T 1,42.000 and debtors at their face value subject to an allowance of 5% to cover
doubtful debts. The cost of liquidation of Rohit Ltd. came to ¥ 5,000 and were bom
by Shashi Ltd. |
Preparé Realisation Account, Shareholders Account, Shashi Ltd. Account and Bank

Account in the books of Rohit Ltd. and pass entries in the books of Shashi Ltd.

15
P.T.O.
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v wwf fa 31 W 2000 # fafd @ emR e A w1 wmER @

weEr fem 3w ate W A & & - 39 TR @

<A afdr | Rt afyr
®) ®)
Pt o fer wRaerl
109 IR & ™ 1,00,000
wiaHd 60,000 sREEY =R | 6,00,000 |. qfF SR weA 3,00,000
frifya, sfued ok 75 : W SR e 3,40,000
50.000 3fEd I, T IR, wo ok SR
7 10 wfa 91 5,00,000 |=rq wfteufwaf . .
1.000 10% @M ¥R fafqy SR 36,000
( 100 wfa =) 1,00.000 | wi® 1,68.000
sl 3k srfimy - T 1&g 36,000
R aRtEfa 1,70.000 | &% § V&S 50,000
AH-TA 1,10,000 -
e AT
10% FROT9 1,00,000
g qgard sk gy
], <A
fafay sreR 50,000
10,30,000 10,30,000
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Or

(3raam)

(a) What are the conditions to be satisfied in case of amalgamation in the nature

of merger as per AS-14 ? 5

P.T.O.
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(#) The following is the Balance Sheet of Mukesh Co. Ltd. as at 3ist March, 2010 :

Liabilities Amt. )]  Assets Amt. (%)
Share Capital Buildings 2,00,000
20,000 equity shares of Machinery 1,30,000

Rs. 10 each, fully paid up 2,00,000] Patents 40,000
10% non-cumulative preference Inventories 80,000
shares of Rs. 100 each fully Debtors 55,000
paid up 5.00,000( Preliminary Expenses 10,000
8% Debentures 1,00,000( Profit and Loss Account 1,85,000

Trade Creditors 3,30,000

Creditors for Expenses 20,000
700,000 7,00,000

With a view to reconstruct the company, it is proposed :

(H To reduce :

(@) equity shares by ¥ 9 each.

(b) 10% preference shares by T 40 each.

(¢) 8% debentures by 10%.

(d) trade creditors claims by one-third.

(¢) machinery to T 70,000.

(/A inventories by T 10,000.

(i To

provide T 15,000 for bad debts.
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(i) To write off all the intangible assets; and

(iv) To raise the rate of preference dividend to 13% and the rate of debenture
interest to 13.5%.

Assuming that ‘tlie aforesaid proposals are duly appro\}ed and sanctioned, pass the

journal entries to give effect to the above, and prepare the company’s post-

reconstructed balance sheet, 10
(F) AS-14 & O fooa & ¥R § w9mew & faq & wdf + ofd
FE OB § 7
(@ygde FE A & 31 9= 201 w1 geE-vA feafafen €
agang R @) | aRHaRwat | ¥ @)
b T CECEl 2,00,000
T WW T 10 TR e 1,30,000
% 20,000 3 TR | 2,00,000 | W= 40,000
T 100 wia qof wew - 80,000
| 10% SFE=a A - |ERR 55,000
i 5,00,000 T B 10,000
8% TR 1,00,000 | F9-T <@ 1,85,000
MR TRR 3,30,000
=gt % fag SRR 20,000
, 7,00,000 ' 7,00.000

P.T.O.
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4. (@) Sakshi Ltd. purchased its own 1,000 9% debentures of ¥ 100 each at

(&)

T 96 on 31st March, 2010. Record the transactions in the books of the company

if quotation is (i) cum-interest and (i) Ex-interest. Debenture interest is paid on

30th June and 31st December.

Assume that the debentures are not yet cancelled immediately. 9

For each of the following transaction, calculate the resulting cash flow and state

the nature of cash flow viz, operating, investing and financing.

( One old machinery costing ¥ 50,000 (WDV 20,000) was sold for
T 35,000.

(i) A plot of land was purchased out of the surplus funds for investment
purpose and was let out for commercial us¢ and received ¥ 30,000.

(i) Paid T S,QOO as underwriting commission on issue of equity shares.

(iv) 10,000 9% Debentures of T 10 each issued to supplier of machinery. 6

P.T.O.

© —
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(F) et & 7 31 W 2010 A T 96 W AW B T 100 TEF D 1,000
9%3@7[13?1;#@1%1 () TB-=N SR (i) IRfed FRYT W T H
Tkl § Horeer w SfwfEd FINTI FOME W oSS @ 30 S SR
31 Rger =1 waw fFvr s ®
w® A Wt R o eed oW W o #
(@) frafafad 4 4 g% woreer & fou fomdt Tt wom ofisfm @i
A Ty f& T v W wEw weed §, PRwh % oo falm o
() T 50,000 I oA (FRE T 20,000) F UE A AR T 35,000
§ a9 W)

() AR FHfyEa ¥ w qEs fow wEemd 'l mn s afafes
sEm % fag e w K@ m Rt 30000 ww gw

() IS TR0 % M W gHie wERm & ®u § 2 8,000 ® Y@M
frar mam

(v) W] & WeEEF & T 10 & 10,000 9% kUG W fFT Ty
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From the balance sheet of Arun Rana [td. prepare cash flow statement by Indirect

method for the year ended 31st March, 2010 as per AS-3 (Revised) :

Liabilities 31-3-2010 {31-3-2009 | Assets 31-3-2010 | 31-3-2009
4 T 4 3
Equity share capital 80,000 55,000 | Fixed Assets 80,000 82,000
12% Preference Less : Accumulated
share capital 20,000 25,000 depreciation (30,000) | (22,000)
General reserve 4,000 4,000 50,000 60,000
Profit & Loss A/c 2,400 2,000 | Debtors 48,000 40,000
15% Debentures 14,000 12,000 | Stock 70,000 60,000
Creditors 22,000 24,000 | Prepaid expenses 1,000 600
Provision for taxation 8,400 6,000 | Cash 7,000 2,400
Proposed dividend 11,600 10,000
Bank overdraft 13,600 25,000
1,76,000 | 1,63,000 1,76,000 | 1,63,000

Additional Information :

() Fixed assets sold for ¥ 10,000, their cost ¥ 20,000 and accumulated depreciation

till date of sale i1s ¥ 6,000.

P.T.O.
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(i) Provision for tax made T 9,400.

(i) An interim dividend of ¥ 9,000 was paid during the year.

4380

(iv) It is assumed that new debentures have been issued at the end of current

accounting period.

15

aw qun fa. & ger-TF A AS-3 (F9f) B OSFER 31 WHE 2010 B WEE
5 @ fou ey fafy ¥ T wAR fAAm dER @

gand 31-3-2010 {31-3-2009 | wRwufmat 31-3-2010 | 31-3-2009
e z 4 T
shaet v gt 80,000 | 55,000 | feer uftzrafaal 80,000 [ 82,000
12% e 2T : fEd
e it | 120,000 25000 HEEEH (30,000) | (22,000)
amr rfafa 4,000 4,000 50,000 | 60,000
a-FH e 2,400 2,000 | TR 48,000 | 40,000
15% F0T9H 14,000 | 12,000 | €% 70,000 | 60,000
TR 22,000 | 24,000 | Y& YT =T 1,000 600
Y & o yaum 8,400 6,000 | T3 7,000 2,400
TR TN 11,600 10,000
= SR 13,600 | 25,000
1,76,000‘ 1,63,000 1,76,000 | 1,63,000
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afeftem g= -

() fer ofegefedt 1 2 10,000 § =0 TN, ST @F@ X 20,000 ¥ ¥R fewl
F wlr@ W% whad qeaeE T 6,000 R

) X ® faw T 9400 F WEwm feEm wm

Giy a8 ® WA T 9,000 afm wWW W yEw fEm T

vy T8 T TN ¥ fF O S safy & @ A U wuws Wi feT
4

(@) Compute the amount of gross profit and sales if opening stock is T 60,000,
closing stock is ¥ 1,00,000, stock turnover rate is 8 times and goods are sold
at a profit of 20% on sales. 5

(b) Current assets of ABC Ltd. are ¥ 29,745 and the current ratio is 1.5. The
inventories stood at ¥ 8,827. Calculate tile liquid ratic and comment on the

liquidity position of the company. 5

P.T.O.
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(c) State the meaning and significance of any wo of the following ratios
() Interest coverage ratio;

(i) Price-caming ratio;
(iif) Debtor turnover ratio. 5

(%) aRfuF =IF T 60,000, a9 WEF T 1,00,000, Rk 3&d1 T 8 TN ¥
g AE W faw W 20% WY W dw W@ ¥ owea W A faw
%1 ufn sfyswfae =ifeg)

(@) ABC L. ® =] wfiwufad! 7 20475 § R =g oqua 15 &1 HorgE
? 8,827 @I W& AU ufwfam wifg R &o # aem-fefs w
feooft wiferg)

(n)mﬁﬁwaaﬁqﬁimadaﬁ?uﬁm:

() TS FES AT,
(i) HA-ATEA I,

(i) TRR Ed  FIIE |

{
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Or
(3teram)
(@) The Debt-Equity ratio of a company is 1 : 2 which _of the foliowing transaction

would increase, decrease or not change the ratio :

(/) Purchased fixed assets for ¥ 10,000 on long term deferred payment basis.

(i) Issued new equity shares of T 50,000.

(ify Payment of ¥ 20,000 of final dividend already declared. 6
() () What is meant by analysis of financial statements ? Briefly explain its

limitations.

(i) Explain the conditions for buy back of shares. 9
(F) T & w1 wO-3FREE U 1 2 ¥ Prefafem § ¥ fRw vememR

| AU &g SOW, W WOW q@ IfEfdd @

() ERiT T s TR W ¥ 10,000 w1 feww ofmufwt @l

L

P.T.O.
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() 2 50,000 ® T EA I WK fET M
Giy "ea @ Afwa oiftm @ww F T 20,000 FOTAEA!
(@) () fdm fewl @ feem ¥ s ood ¥ 7 swe Remel w1 owaw
e wE

(if)mﬁﬁm@ﬂzﬁmﬁwéﬁﬁm

4380 24 2,500



